VARMAS PUBLIC SCHOOL FEES STRUCTURE STD 1				
First Installment	May 25th to June 5th	4915/-		
Second Installment	July 25th to August 5th	4915/-	4915 x 4 =19,660/-	
Third Installment	October 25th to November 5th	4915/-		
Fourth Installment	January 25th to February 5th	4915/-		
TOTAL ONE YEAR	R TERM FEE = RS.19,660/-			

VARMAS PUBLIC SCHOOL			
	FEES STRUCTURE	STD 2	
Text Books, Note Book			
PARTICULARS	DUE DATE	FEES	TOTAL
First Installment	May 25th to June 5th	4915/-	
Second Installment	July 25th to August 5th	4915/-	4915 x 4 =19,660/-
Third Installment	October 25th to November 5th	4915/-	
Fourth Installment	January 25th to February 5th	4915/-	
	· ·		
TOTAL ONE YEAR	R TERM FEE = RS.19,660/-		

VARMAS PUBLIC SCHOOL FEES STRUCTURE STD 3			
PARTICULARS	DUE DATE	FEES	TOTAL
First Installment	May 25th to June 5th	4915/-	
Second Installment	July 25th to August 5th	4915/-	4915 x 4 =19,660/-
Third Installment	October 25th to November 5th	4915/-	

FEES STRUCTURE STD 4			
PARTICULARS	DUE DATE	FEES	TOTAL
First Installment	May 25th to June 5th	4915/-	
Second Installment	July 25th to August 5th	4915/-	4915 x 4 =19,660/-
Third Installment	October 25th to November 5th	4915/-	
Fourth Installment	January 25th to February 5th	4915/-	

VARMAS PUBLIC SCHOOL				
FEES STRUCTURE STD 5				
DUE DATE	FEES	TOTAL		
May 25th to June 5th	5315/-			
July 25th to August 5th	5315/-	$5315 \times 4 = 21,260/-$		
October 25th to November 5th	5315/-			
January 25th to February 5th	5315/-			
	FEES STRUCTURE  DUE DATE  May 25th to June 5th  July 25th to August 5th  October 25th to November 5th	FEES STRUCTURE STD 5  DUE DATE  May 25th to June 5th  5315/-  July 25th to August 5th  October 25th to November 5th  5315/-		

VARMAS PUBLIC SCHOOL			
FEES STRUCTURE STD 6			
PARTICULARS	DUE DATE	FEES	TOTAL
First Installment	May 25th to June 5th	5315/-	_
Second Installment	July 25th to August 5th	5315/-	$5315 \times 4 = 21,260/-$
Third Installment	October 25th to November 5th	5315/-	
Fourth Installment	January 25th to February 5th	5315/-	_
TOTAL ONE YEAR	R TERM FEE = RS.21,260/-		

VARMAS PUBLIC SCHOOL			
FEES STRUCTURE STD 7			
PARTICULARS	DUE DATE	FEES	TOTAL
First Installment	May 25th to June 5th	5315/-	
Second Installment	July 25th to August 5th	5315/-	$5315 \times 4 = 21,260/-$
Third Installment	October 25th to November 5th	5315/-	
Fourth Installment	January 25th to February 5th	5315/-	
TOTAL ONE YEAR	R TERM FEE = RS.21,260/-		

VARMAS PUBLIC SCHOOL FEES STRUCTURE STD 8			
PARTICULARS	DUE DATE	FEES	TOTAL
First Installment	May 25th to June 5th	5675/-	
Second Installment	July 25th to August 5th	5675/-	$5675 \times 4 = 22,700/-$
Third Installment	October 25th to November 5th	5675/-	
Fourth Installment	January 25th to February 5th	5675/-	

VARMAS PUBLIC SCHOOL FEES STRUCTURE STD 9			
PARTICULARS	DUE DATE	FEES	TOTAL
First Installment	May 25th to June 5th	5675/-	
Second Installment	July 25th to August 5th	5675/-	$5675 \times 4 = 22,700/-$
Third Installment	October 25th to November 5th	5675/-	
Fourth Installment	January 25th to February 5th	5675/-	

VARMAS PUBLIC SCHOOL FEES STRUCTURE STD 10			
PARTICULARS	DUE DATE	FEES	TOTAL
First Installment	May 25th to June 5th	5675/-	
Second Installment	July 25th to August 5th	5675/-	$5675 \times 4 = 22,700/-$
Third Installment	October 25th to November 5th	5675/-	
Fourth Installment	January 25th to February 5th	5675/-	